CASE

INDUSTRIAL CONSTRUCTION

1 | CASE

CONSTRUCTION

INDUSTRIAL



Variants

Model Information

Serial Number ranges

Production Dates

Part #

4895817

4899057

2852817

2852825

2854282

2852818

4899110

4890189

4890190

2852820

4890193

4895477

4897224

CNH

INDUSTRIAL

Part Name Description

FLANGE BOLT FIng, M6 x | x -
20mm, CI 10.9

FLANGE NUT Mé -
O-RING 1.7mm Thk x 23.5mm ID23.5x1.7
PLUG 100mm x 40mm L -

NUT Mé6 x | -
SCREW Hex, M6 x | x 30mm Méx30

FLANGE BOLT Hex Flg, M6 x | x-
20

SENSOR SPEED SENSOR - -
CRANKSHAFT

SENSOR SPEED SENSOR - ASSY
CAMSHAFT

O-RING 0.07" Thk x 0.676" ID, 17.17x1.78
17, Cl 7, 75 Duro

Qty

SENSOR ASSY, Engine Oil Pressure Sender |

O-RING 2.62mm Thk x 13.94mm -
ID

SENSOR Temp, 2 Terminal, M4 Temperature
x 1.5

i | CASE

CONSTRUCTION



20

21

22

23

24

25

26

Part #

4892255

2852821

4899124

4895157

2854594

2854596

2854079

4896542

2854292

2855150

4890964

4899078

2854593

Part Name

HOUSING

SENSOR

WASHER

STUD

ECU

BRACKET

GASKET 6.45mm Thk

HYD CONNECTOR MI2 x I.5

ORB x 6 ORFS

SEALING WASHER [12mm ID x
I7mm OD x |.5mm Thk

Description

ECM, Boost/Air Temperature , 4

wire

MI12x1.5

SEAL WASHER

ISOLATOR 8mm ID x 25mm OD -

x I,5mm L

FITTING MI2 x .5 x 26mm L
FLANGE BOLT Hex Flg, M8 x

1.25 x 45
STUD

CNH

INDUSTRIAL

CASE

CONSTRUCTION

Qty



